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6.5: Graphing Using x-int and y-int.

s 9.
fod nycakener, seb =0

s O

0

DEFINITION: The y-intercept is the point on the y-axis where your line crosses or meets the y-axis. Itis

Aalso the coordinate that has an x-value of ZERO. (0, y)

j

DEFINITION: The x-intercept is the point on the x-axis where your line crosses or meets the x-axis. Itis

also the coordinate that has a y-value of ZERO. (x, 0)
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{ esson: Graphing with x-Intercepts and y-Intercepts

Note problems where you are asked to find both the intercepts, the line is usually not in y=mx+b form,

rather a different form (possibly standard form Ax + By + C = 0).

QUESTION 1: PARTA—
Given the equation(3x + 4y = 12jwhat are the
intercepts of this line.

SOLUTION
To find the y-intercept, the x-value must be O.

1. Substitute x=0

2. Solve the egudtion fory
‘%} dy=(2

Ly= (2

Y=3

The y-intercept is "5‘
ﬁr)‘ A

To find the x-intercept, the value must be

 3)

1. Substitute y=0
2. Solve the equation for y
Bk U ) =("2
C-o=Ava

X-:L‘l
The x-interceptis &, ASAPS

QUESTION 1: PART B ¢ 4,0)
Graph the line 3x + 4y = 12 using the intercepts.

Plot the coordinates of each intercept and connect
the two points to create your line.

7T

QUESTION 2 : PART A
Given the equation -6x + 10y — 24 = 0 what are the
intercepts of this line.

SOLUTION
To find the y-intercept, the x-value must be 0.

1. Substitute x=0

2. Solve the eguation fory

ioy= LY
Y= 2. Y4

The y-interceptis ( O ,"20&')
To find the x-intercept, the y-value must be 0.

1. Substitute y=0
2. Solve the equation fqr y

,,(,,:(,, 2‘{

=) Xx=-l

The x-interceptis( , 0 )
QUESTION 2 : PART B

Graph the line -6x + 10y — 24 = 0 using the
intercepts.

Plot the coordinates of each intercept and connect
| the two points to create your line.
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Practice: Graphing with x-Intercepts and y-Intercepts

a 4x-y=8 L i b 7x-9y =63 iid
'X-intercept: . / | x-intercept: -
o= 1 Px=63 7
x= 2 . / . = .
(2, O ) Ao N 4
i Y,g._. b
y-intercept: IR y-intercept: NI e
— / R ]/ L Porall
—y= g i —qy=¢3 59
Sem i
(O, %) Y, (e =T /
c. x+2y=5 Ay i d. 2x-5y=—4 7.
x-intercept: . x-intercept:
X=% ROy o I e
; x w= T qﬁ:”\ x
: 5 0 ’ . - e ° H
S .0 Sz e ) /4
| y-intercept: | y-intercept: set x=o
) Sed x=e . S W= N A M A
13122-3" ~m=0-G
(©, _259) (2, =)
e. 3x+4y-8=0 & 12 f.4x~y=9 N /
AN
X-intercept: x-intercept: // |
S R 00 0 0 O A gx=9 o /V . o)
— O ‘52’ \ S x =Yy 2T }/'\"” .
7= /é 7’ —;5 o b N 5 1" Y yq % f] = 5
QT _o) R (2% o ) /
. /
y-infcercept: ol . y-intercept: A
A= “y=9 S
Nz 2 - - RN
” j e
(e & o, =9) /

ANSWERS: a. (2, 0) (0,-8) b.(9,0),(0,-7) c.(5,0), (0,25 d.(20),(0,08), e (g,c))(o,z)

(2.0 -9
4

Complete: Textbook p.319 # 1, 3aceg, 6, 11




Mathematics 9
Determining Points of Intersection

Date:

1. Give: 9.
a) equation of line a: Y= —Boct T

b) equationoflineb: Y = X ~§

¢) coordinates of their point

Graph the lines y =

@
2x-2 and y=-x+8.

State the coordinates of their
point of intersection: 2

X . _ Check your answer in your notebook using
of intersection: (3, 7:) proper LS= and RS= form.
\; y y
iy 2
: X / 'l/ -— 2; —
s \ R 7 ‘j - :5 X
x /l P
_8 -6 —4 2 o 2\ " 5 3 -8 _6 4 2 P 4 3 X fi’?
7 /
2 > / 7
o \ i
A

N \ Ve :

" Z - ]
3. Complete the tables of values for: 4, Complete the tables of values for:
2x+5y=10 and 2x+y+6=0, _ %*L,%) y=—3x§~’6 and y=-2x-2,
x |y x|y 7 Lb)i&f/ 0 x |y x|y
> (o) iBye O € 0 | 2 0 |-L | 4 //6 210 2|2 @
597 510 =30 W -1 | -3 U 5
MF ¥ thef{ graph the lines 0 |-t -

and state the point of intersection: _ (=S (4

Vs Check your answer in your notebook using
proper LS= and RS= form.
227 P \ N
o \
W=D \
\\ )
~_ |
\ I
\\
\ - X
8 -6 -4 -2 0 2 4 B 8

then graph the lines

and state the point of intersection: (-~ Y ) (3>
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